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QUESTION 1

What is the correct authentication processing order on EX Series switches when multiple Layer 2 authentication
methods are enabled?

A. MAC RADIUS —andgt; 802.1X —andgt; captive portal
B. 802.1X —andgt; MAC RADIUS —andgt; captive portal
C. 802.1X —andgt; captive portal —andgt; MAC RADIUS
D. captive portal —andgt; MAC RADIUS —andgt; 802.1X

Correct Answer: B

QUESTION 2

Click the Exhibit button.

userfswitch# run show dotlx interface detail

ge—-0/0/15.0

Fole: Ruthenticator

Administrative state: Auto

Supplicant mode: Single—-3ecure

Number of retries: 3

Quiet period: 60 seconds

Transmit pericd: 30 seconds

Mac Radius: Enabled

Mac Radius Restrict: Disabled

Reauthentication: Enabled

ConZigured Reauthentication interwval: 3600 seconds

Supplicant timeout: 30 sesconds

Server timeout: 30 seconds

Maximum EAPOL requests: 2

Guest VLAN member: guest

Number of connected supplicants: 1

Supplicant: 50c58dbaedlé, 50:C5:8D:BA:ED:16

Operational state: Authenticated
Backend Authentication state: Idle
Authentication method: Server-Fail Vlan
Aunthenticated VLAWN: guest
Session Reauth interval: 3600 seconds
Reauthentication due in 3393 seconds
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Referring to the exhibit, which statement is true?

A. Only 802.1X authentication will be used for devices connecting to ge-0/0/15.

B. Additional users will automatically be allowed to connect to ge-0/0/15.

C. The current device is authenticated using MAC RADIUS.

D. The current device was allowed after authentication attempts to the RADIUS server failed.

Correct Answer: D

QUESTION 3

You are implementing a single spanning tree instance in your network and want to use the protocol that will give you the
best convergence time in the event of a physical network failure of the root bridge.

Which spanning tree protocol will satisfy this requirement?
A. RSTP

B. STP

C. MSTP

D. VSTP

Correct Answer: A

QUESTION 4

Click the Exhibit button.
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RZ — T _R1
ge-0/0/2

ge-0/0/1 gE-DIDH

=2 ¥ AREA 0
= 10.42.100.0/24

userfARl1> show route 10.42.100.0

inet.0: €1 destinations, &4 routes (6l active, 0
holddown, 0 hidden)
+ = Active Route, — = Last Active, * = Both

10.42.100.0/24 * [OSPF3/150] 00:00:11, metric 0, tag 0
> to 10.42.18.1 via ge-0/0/1.0

Referring to the exhibit, how is R1 learning the route from R27?

A. R2 has an export policy with external type 2 configured.

B. R2 has interface ge-0/0/2 configured as a passive interface under OSPFv3.
C. R2 has interface ge-0/0/2 configured in another area under OSPFv3.

D. R2 has an export policy with external type 1 configured.

Correct Answer: D

QUESTION 5

You are deploying IP phones to a customer site. The IP phones will be installed to share a common access port with the
user\\'s desktop computer. You are required to provide a mechanism to place user data traffic and voice traffic in
different VLANSs for class-of-service application.

How would you implement this solution?

A. Configure flexible VLAN tagging on the user ports with the data and voice VLANs as members.

B. Apply a multifield classifier on the access ports that assigns voice packets to the assured-forwarding class, based on
the IP phone manufacturer\\'s MAC OUI.

C. Configure the IP phones to label voice traffic with the DSCP of code point and apply a BA classifier to the access
ports to classify voice traffic.

D. Configure VLAN tagging on the IP phones and use the voice VLAN feature on the access ports to assign tagged
frames to the voice VLAN and untagged frames to a data VLAN.

Correct Answer: D
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